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102 ROIUNO. ¢ coeevecrneminnsessens
2014
APPLIED PHYSICS
foraifea v Al w2 ) [Sfwan s 70
Time allowed : Three Hours] {Maximum Marks : 70

Fz . (i) mewEyT At € v | | et ole & e it
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) T ¥ & QY 9T @ HEER U T Ko BT |
Solve all parts of a question consecutively together.
(iii) TRF TV H TG 9F G A AT |
Start each question on a fresh page.
(iv) =T smarsst § s 0 %1 Rl § i srpEm et

Only English version is valid in case of difference in both the languages.

i

(i) WA % faems 1 geeen e T e k2
Why soap bubble is spherical ?
(ii) TeETERET % Tt Faare w1 s1 vefy 3 9 iR fam fafad

Write the dimension and value of universal Gravitational constant in SI system.
(iii) 3 g Wt ofoam fafe
Write the definition of Half Life.

woddurpuon)rmmar//:dyny

(iv) Tom & Fran w1 % fmfad |

Write the statement of Coulomb's law,

(v) T ARY FO aw] B W A9 T K o ¥ o v i st few sue o

&F AT 2
The absolute temperature of a perfectly black body is doubled, in what ratio, its
emitted energy will be increased ? 2x5
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(2) live

faiia fawstaor #t dmt 7 & 2 W Fow w1 EdEE WE A st e
ator o it e & 1 Pt Pavetao fafy @ smavas g3 wnfo #ifm

What are the limitations of dimensional analysis ? The time period of a simple
pendulum depends on its length and acceleration due to gravity. Establish the
necessary formula using dimensional analysis method. 2+4

& 3=ga w7 ¥ 2 FvE 3 fofe 2 ot g e o s W s
g7 wiiya Fieg |

What is Capillary rise ? Establish the necessary formula for determining surface
tension of water using capillary rise method. 2+4

o ®RO F W R FE 5 N ¥ WY R A oiEAs & A smvas 51 R
T Fif |

Establish the formula for variation in the value of acceleration due to gravity

with height and depth. 3+3
weareaa, fagta ud 4 o weawye qioie 5 v |
Explain Elasticity, Strain and Young's modulus of elasticity. 2+2+72

fest A aram  aft ¥ @ w0 e W@ qE wRwwT ) ¥ gF o A 3w
Hye fean 2 dwifea g7 v S |

Explain Newton's formula for velocity of sound in a gaseous medium. What
corrections were made in it by Laplace ? Find the corrected formula. 6

FoN WA & fafe= ate % 9w fafed | aes oo @efE 3 e e
T T St & 2 S wereT o @ wRaiYe wie |

Write the name of various modes of heat transfer. On what factors the heat
transfer due to conduction depend ? Define the coefficient of thermal conductivity. 6

fegr fonvr @t oftarn ferfard 1 gy s & @ et g o faree fenm 0
SFT= Wi |

Define electric potential. Derive the formula for electric potential at any point
due 1o a point charge. 2+ 4

6000 A ot aet wieH F IO WA #fwd o B ¥ - C = 3 x 108 WA,
h=6.6x 1073 9=R)

Calculate the energy of Photon of wavelength 6000 A. (Given - C = 3 x 108 nvs,
h=6.6 x 10° J/s). 3
=t Wit i SOl @ WAHFT ®9 4 ST 97 69 Wi AW S0 3 7 12 A
t | e wie W A e s |

Equivalent resistance of two resistances on connecting in series and paralle! are
50 Ohm and 12 Ohm respectively. Find the value of each resistance 3
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(3 102
ferais & ymr 7 e # fFant ¥ #oa fEfed | FewiR 99 F 9ged ® o W
e |
Write the statements of Kirchhoff's laws for current and voltage. Obtain the
condition of balance of Wheatstone bridge. 2+4

Stultee H [ WiaR, e Td w1ien g wearedt w uivey % ferd ofvew # sfeama
3R FAAT I AT |

Find the impedance and the phase difference of an A.C. circuit containing a
resistance, an inductor and a capacitance in series. 6

feert @ & 2 ©F ot 7 et @ uitee fow gt syt qoend |

What is rectifier 7 Explain the working of full wave rectifier with its circuit

diagram. 1+5
o shvEfa 3 ave sfsfa § A7 aeemed |
Explain the difference between forward bias and reverse bias. 3

(iii) 7 Feamfas v % o oy 200 79 & | 35E v R ad v T o

. . : 1
Half life of a radioactive substance is 200 years. After how many years its g'i'”‘

part will remain 3

Frfefaa o @ fos 2t w dfive femforat fafea |

Write short notes on any two of the following :

(1)

(i1)

¥ wgEer

Noise Pollution

TEEA & T AT a6 ST

Mass defect and nuclear binding energy

(iii) wereT faege v

Photo electric effect 6x2
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